Division par 1071 ()

51 =101

22+ 1071

22 +1071

28 - 1071

53 =101

27 = 1071

16 = 1071

62+ 1071

53 =101

47 +- 1071

Trouvez chaque quotient.

86 +1071=

74 - 1071 =

86 +107t=

91 - 107 '=

19+107'=

6+-10"1=

31 +10"1=

35 +-10"1=

78 + 107!t =

55 +10"1=

MathsLibres.Com




Division par 107! (]) Solutions

51+10"1=510

22 +10"1=220

22 +1071=220

28 +107' =280

53 +10"1=530

27 +1071 =270

16 + 1071 =160

62+ 1071 =620

53 +10"1=530

47 + 1071 =470

Trouvez chaque quotient.

86 +~ 1071 =860

74 + 1071 =740

86 +~ 1071 =860

91+ 10"1=910

19 +107' =190

6+10""=60

31+10"'=310

35 +10"1=350

78 + 1071 =780

55+ 101 =550
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